H & 0l & AHS B Ml A

20248 =0ila eI S

mu: gazd eel
Rl UoIE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S otd el 23,187,974 29,460,742 6,272,768
= 16,683,403
== 6,494,571
= 10,000
MEZOH 2l 5,421,014 7,774,334 A2,353,320
= 2,968,153
< 2,452,861
oz 2el 4,301,481 6,591,777 N2,290,29
= 2,606,000
= 1,695,481
SEIHHRES W=7 843,99 1,110,448 A\266,453
308 AtXIEHMSOIE 843,99 1,110,448 A\266,453
2 d+=u2s 843,99% 1,110,448 N\266,453
OFNERLg=2 843,995
SHQIHER NS WR 36,796 38,589 A1,793
308 XtXIEMSO0IE 36,796 38,589 A1,793
2 d=u23 36,796 38,589 1,793
OsdgiER = 36,796
A2 MRS ZXAIE X X2 1,946,800 4,387,120 N\2,440,320
= 1,570,000
& 376,800
403 AXIEHMSA=Z0l1d 1,946,800 4,387,120 A2,440,320
= 1,570,000
= 376,800
01 XIS A =2 1,946,800 4,387,120 A2,440,320
OAAE AIEE SXAIE EXIXSH 1,946,800
= 1,570,000
= 376,800
INREC D) 109,250 24,300 84,950
201 er23| 29,250 24,300 4,950
01 At2teltl 29,250 24,300 4,950
Ostefotmaie] 2 Ws & 28 S 14,800
O3stEtAtL &8 SRY =2 14,450
308 AFAIEHMSOIE 80,000 0 80,000
13 SI[2SOHE & EAS A 80,000 0 80,000
Ol =8 82 80,000
SNEHEAMHE Jl=XE 80,000 40,000 40,000
307 lztol & 80,000 40,000 40,000
02 2IZHBHAIHE £ 80,000 40,000 40,000
O3LH(SHBIEMNLE) JI&eXE 80,000
IHASEI(GP) HHED| HEXIZ ALY 1,284,640 642,320 642,320
= 1,036,000




SA: BZHOEBR|
3 dEzol 2l
ol TOIE 2el (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 248,640
403 AXIEHMSA=01d 1,284,640 642,320 642,320
= 1,036,000
= 248,640
01 XA =22 E 1,284,640 642,320 642,320
ONASEI(GP) LI WEXZ ALY 1,284,640
= 1,036,000
= 248,640
$H2g 2el 1,119,533 1,182,557 263,024
= 362,153
< 757,380
BEEUSAIE 2L 27,800 22,700 5,100
201 fer23| 10,200 10,200 0
02 S3=gHl 10,200 10,200 0
OEZMEANL B 2SN 28 S 10,200
202 04| 13,600 8,500 5,100
01 =LHOHI 13,600 8,500 5,100
OSHSMEANE B LR 13,600
301 LELEN S 4,000 4,000
14 JIEt2 =3 4,000 4,000
OulZtetF A2 HEE A BSE 2,000
OsZH AN (128) L&z 2,000
= USSP £ - 2g22/8l N2 294,000 450,000 /156,000
= 196,000
= 98,000
402 2I2F X201 & 294,000 450,000 156,000
= 196,000
= 98,000
02 QI TH2AILEE (01X THE) 294,000 450,000 A156,000
OSSJAZAMA 2= 294,000
= 196,000
s 98,000
=& ANSEZIPD| €% - 2822l X2 249,233 252,657 N3,424
= 166,153
& 83,080
402 2I2FX=01& 249,233 252,657 A3,424
= 166,153
= 83,080
02 RIENEASEZ(0IETHR) 249,233 252,657 N3,424
O=HIAAZAMA = 249,233
= 166,153
= 83,080




SA: BZHOEBR|
ma: sz 2
&l 2Feg 2l (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SMSIATRHE 2S(20HEEXR) 330,000 317,300 12,700
307 elztol & 330,000 317,300 12,700
02 2B YA E X 330,000 317,300 12,700
OFg =MIAAMEH 28 At 330,000
NESd atZatel 130,000 66,400 63,600
201 er=23y| 70,000 66,400 3,600
01 AtR2t2|HI 58,000 54,400 3,600
OAMsFAsF It 24 34,000
OAMSRdSZ et dAl=4 U X2 24,000
2 35244l 12,000 12,000 0
OM==RAMABRIC 29 12,000
308 AXIHSOIA 60,000 60,000
01 XN BSELS 60,000 60,000
OUEAAY = 2tZAH &A 60,000
AFLXAIE EXHE X2 88,500 73,500 15,000
403 AXIEHHSAH=201d 88,500 73,500 15,000
01 MHXIHHA 22X 88,500 73,500 15,000
OSFHLYXIAIE EXHE K& 73,500
OE4E TAE AF N2 15,000
Hol=2l otE A XMl & 22l 17,692,780 21,615,308 A3,922,528
= 13,715,250
= 3,967,530
= 10,000
HYI=S2l g AT R 2e 17,692,780 21,615,308 A3,922,528
= 13,715,250
< 3,967,530
= 10,000
A2TAIE A 8,435,400 12,590,633 A4,185,233
= 7,274,000
== 1,161,400
403 AXIEMSA=01& 8,435,400 12,590,633 A\4,185,233
= 7,274,000
< 1,161,400
01 A= 2L 8,435,400 12,590,633 A4,155,233
A2TAIE A 8,435,400
= 7,274,000
= 1,161,400
METR | =HEH 4X 3,740,700 3,837,599 296,899
= 3,033,000
=S 707,700
403 X SHMSA=01H 3,740,700 3,837,599 296,899
= 3,033,000




2A:

S OLAI 2| T

= o2l SR Mzl Y 2
chel: HDI2Q OHEEFE L 22 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 707,700
01 A= 2L 3,740,700 3,837,599 296,899
Ode sl +=dH £X 3,740,700
= 3,033,000
= 707,700
SEHHYE =H2d= 885,500 795,900 89,600
= 442,750
=S 442,750
308 XtXIEMSOIH 885,500 795,900 89,600
= 442,750
< 442,750
01 XN B2 LS 885,500 795,900 89,600
SEHHIE =HE43 N 885,500
= 442,750
= 442,750
HOIE2+H 2 XESH=01EEX) 238,728 235,326 3,402
308 AFAIEHMSOIE 238,728 235,326 3,402
14 JIEIRE=2 238,728 235,326 3,402
sofEld 3l=AlY 283 238,728
ot&ots Meld| Hat 685,085 685,085 0
= 582,000
== 93,085
= 10,000
308 XXM SOIA 685,085 685,085 0
= 582,000
=S 93,085
= 10,000
01 HAHHBSEXRS 685,085 685,085 0
Odtdat= 220 HatArg 685,085
= 582,000
= 93,085
= 10,000
SSHotY == 193,800 181,050 12,750
= 114,000
= 79,800
403 THXI M SAH=01H 193,800 181,050 12,750
= 114,000
=S 79,800
01 AR A =2 & 193,800 181,050 12,750
OZs&oty &= 193,800
= 114,000
S 79,800
gdae| ge=d 3,600 1,165,965 1,162,365

~
|




2A:

Bt otM 2|t

33 o= o8N Ml & 2l
ool HIIZo orEET W 22 (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 3,600 2,565 1,035
03 A=A 2= 3,600 2,565 1,035
Ostgddel ge=d 3,600
HEAE S& £ &3 1,937,567 370,000 1,567,567
= 1,571,000
= 366,567
403 AXIEHHSAH=201d 1,937,567 370,000 1,567,567
= 1,571,000
= 366,567
01 XIS 2EE 1,937,567 370,000 1,567,567
OlgAE S8 € &5 1,937,567
= 1,571,000
= 366,567
A= RN 82 60,000 0 60,000
308 AtXIEMSOIH 60,000 60,000
18 SIS0t HAS A 60,000 60,000
OXt=2 gl 82 60,000
A z=g 2t A 50,000 0 50,000
201 fer= 3| 50,000 50,000
03 &A= 50,000 50,000
O131E= & &8 A 50,000
CialE&01 MAKE =& X3 A 898,500 0 898,500
= 698,500
=S 200,000
201 er23 | 100,000 0 100,000
= 50,000
< 50,000
01 At2teltl 100,000 0 100,000
OLaI8I] AL =& XA (AL 100,000
= 50,000
= 50,000
307 @I2t01 & 300,000 0 300,000
= 150,000
= 150,000
02 2B HAHE L 300,000 0 300,000
Ohtal 7] MAtg =& XA (et S) 300,000
= 150,000
== 150,000
308 AHXIEMSOIE 498,500 0 498,500
= 498,500
01 RSN B E2ES 498,500 0 498,500
OLtalg7] At =& XIFA(AlIZ) 498,500




2A:

Bt otM 2|t

33 o= o8N Ml & 2l
ool HIIZo orEET W 22 (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 498,500
HOIE ZelMA 2= 89,500 89,500
201 et 3| 27,500 27,500
01 At22t2l] 20,000 20,000
OHJIZSXelAd &X - 2 284 &
st 20,000
2 s5=4g4l 7,500 7,500
Ost=HJI=gal Halt| 7,500
403 MR HHMSAHE01H 62,000 62,000
01 A= 2L 62,000 62,000
O=Y & ZAl AIAE 25 50,000
EEM, MMM MYT| REHEI| B CTV
AX(EEN) 12,000
SASHIIZE Ml 21,900 21,900
403 X SHHMSAH=01H 21,900 21,900
01 AR A =2 & 21,900 21,900
OsalEgHIIZ 2€)| N& 21,900
otd & =5 Hat 16,500 16,500
307 el2to| & 16,500 16,500
02 2B YAIHE A 16,500 16,500
O0RtS - g =585 & 2FES A
el 16,500
SEHDIZ XMl 225,000 225,000
308 AHXIHMS0IA 225,000 225,000
01 RSN EES 225,000 225,000
SEHDIE =128 & FHl N2 225,000
DRI W2 a0 36,000 36,000
308 AtXIEMSOIH 36,000 36,000
01 XN BSELES 36,000 36,000
OLURIDI MYz d8+H K& 36,000
BHES2 223t 140,000 140,000
403 AXIEHMSA=Z0l1d 140,000 140,000
01 MHXIHHA 22X 140,000 140,000
OdEMyI| tHiES2 SBISAIS 140,000
g BASE dEE TSI N2A 5,000 5,000
308 XXM SOIA 5,000 5,000
01 AXH B2 LS 5,000 5,000
Ooxtg easd dEs U8 NIAL 5,000
ZCIBE Al2I2A] JHE AL 15,000 15,000
308 AXIMSOIA 15,000 15,000
01 XN BSELES 15,000 15,000
OZ2CIBiE AI2IoIA) DAL 15,000




2A:

Bt otM 2|t

33 o= o8N Ml & 2l
ool mDl2ol SRl o 2 (el =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S2AEZ2T| 243 At 15,000 15,000
308 XXM SOIA 15,000 15,000
01 XN B2 LS 15,000 15,000
Os24a 22| 243t Alg 15,000
A 2LIH(eFerE 2| 74,180 71,100 3,080
JlEZdl(gZerdze|) 74,180 71,100 3,080
JlEZd(gzerdae| ) 74,180 71,100 3,080
201 2= 35,200 33,660 1,540
01 At2t2ltl 36,200 33,660 1,540
Ogtgetdae| ge=d 35,200
202 04l 35,200 33,660 1,540
01 =LHA LI 35,200 33,660 1,540
Ostgetdae| gexd 35,200
203 HR=AH] 3,780 3,780
MU FA2SHIFII 3,780 3,780
Osrgerdzie| )t JRF2 3,780




